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These are the two standard representations
of a straight line

Y oc

gradient L
as

y incercept so

g 2 3
s gradient 2 steeper than 450
3 y intercept 3t

y Ex a

gradient more shallow

f S intercept
than 450
Slopes backwards

Exercise Sketch graphs for
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Straight Line Graphs
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Parallel lines have the same gradient
Examples
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write down the equations of 3 lines

parallel to 5 4 1

b 4 7 y 4 25 y doc
I

Now find the equation of a line parallel
to y 4 1 passing through the point 5 18

Line is of the form y 4k t c

sus 5,18 in this equi 18 415 c

18 20 c

18 20 c

Z C
Line is y 4x Z

Parallel Lines



Exercise
1 Find line parallel to y 2x 7 passing

through 4,7 y 2x C

7 da c
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7 8 c

Y 2x I I c

2 Find line parallel to y Isi 4

passing through 4,1
g ta te
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